Updated Double X-Pod Hardware list.
Please use these values instead of those
listed in the written instructions.

22037 HARDWARE KIT X-POD
PN

QTY Description
10610 2 3/4” Bolt (5/16 -18)
4
. T HIW ARARAAL
\ lh lll A h\ i \L\H\\ﬁl'h \l ‘l i |l'|I§H\lﬁl'||'l A\
()
10611 1 1/2” Bolt (5/16 -18)
.l Vv
[(f | IhLM'HH H\l\ﬂﬁh\\
10615 1 3/4” Bolt (5/16 -18)
| PRIV
E lf |T\"IMI|I|L||||'I|hlhh|:||'I|h Ill
10617 Centerlock Nuts (5/16 -18)
)
OSTLLC 5/15/2007

Updated Double X-Pod Hardware list.
Please use these values instead of those
listed in the written instructions.

22037 HARDWARE KIT X-POD
PN

QTY Description
10610 2 3/4” Bolt (5/16 -18)

b

| T \le m\w iy
\ [ l'n”n\"n‘ | H\\ﬁl'h\t ‘l i H\lﬁl'll'l\l'\r
()
106.11 1 1/2” Bolt (5/16 -18)

il ||| il “ | |11\
hx“‘;ua n\l\m h\\

——

10615 1 3/4” Bolt (5/16 -18)
I T
E lf |T\"IMI| I|L| 1 lhhl:'l'hh I1
10617 Centerlock Nuts (5/16 -18)
10
OSTLLC 5/15/2007

16

12

26

54

16

12

26

54

Updated Double X-Pod Hardware list.
Please use these values instead of those
listed in the written instructions.

22037 HARDWARE KIT X-POD
PN

QTY Description
10610 2 3/4” Bolt (5/16 -18)
b
‘ A
\ I“H il \MW 1 ‘M | h\u\ L
Y
10611 1 1/2” Bolt (5/16 -18)
a T
ﬁ L \M\Wah\thl\’h\\
(Y
10615 1 3/4” Bolt (5/16 -18)
| AT
:\( | M'\MM||]H|'|th"n]\h'|l|ll
10617 Centerlock Nuts (5/16 -18)
1
©STLLC 5/15/2007

Updated Double X-Pod Hardware list.
Please use these values instead of those
listed in the written instructions.

22037 HARDWARE KIT X-POD
PN

QTY Description

10610 2 3/4” Bolt (5/16 -18)

b

| T
\ AL \MW 1 ‘M | h\u\ L
Y

10611 1 1/2” Bolt (5/16 -18)

a YOV

ﬁ L \hlf.\mn\;\mm\

(Y

10615 1.3/4” Bolt (5/16 -18)
| AT

F\( | M'\MM||]H|'|th"n]\h'|l|ll

10617 Centerlock Nuts (5/16 -18)
10

OSTLLC 5/15/2007

16

12

26

54

16

12

26

54



